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Read Chapter 7 – Cosets and Lagrange’s Theorem (pages 144-151) and answer the following questions.
Suggested Homework Problems (pages 156-160: 1, 7, 10, 21, 22, 46, 57)

1. 	G
��
	a ∈ G�	H < G�

(a) ������a,��H���� (left coset of H containing a) aH�

(b) ������a,��H���� (right coset of H containing a) Ha�

(c) ��aH = Ha���� !"#$��� %&'�

(d) �(���aH)*+���Ha,�

(e) ��aH < G-./0�

(f) �(���aH)�G��1���

2. 	G
�23�
	H < G�

(a) 456789 (Lagrange’s Theorem):;<=>?�

(b) @23�GA�H����2BC�D2BCH����,�

(c) �a ∈ G� E��a�FG |a|H�G���1� |G|2�IJ�

(d) ��G���1� |G|��1K��!"GL8��1MN��

(e) �a ∈ G�!"a|G|L8�OP�� e�

(f) Q"�R
>?STU89HV489W�XYZ[�\']^�

(g) 456789�_`Y��-./0���� !"#$��� %&'�
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